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Honors Geometry ' Name ID: 1
= Ch. 3 Study Guide Date Period
\© Identify each pair of angles as corresponding, alternate interior, alternate exterior, or same-side

interior.
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Find the measure of'each angle indicated.
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Solve for x.
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Find the measure of the indicated angle that makes lines u and v parallel.
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Find the value of x that makes lines u and v parallel.
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Find the measure of each angle indicated.
26) 27)
)60 ~143 _36-371

180 =51-6%9 = 0

28)

&5




e
]80 "‘80__‘\

S I&o

“1-3¢ >
Find the slope of each line.
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Find the slope of the line through each pair of points.
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Find the slope of a line perpendicular to each given line.
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Sketch the graph of each line.
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Write the point-slope form of the equation of the line described.
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